



Research article

The recurrence formula for the number of solutions of a equation in finite field

Yanbo Song*

School of mathematics and statistics, Xi'an Jiaotong university, Xianning west Road, Xi'an, China

* **Correspondence:** Email: syb888@stu.xjtu.edu.cn; Tel: +8618291806025.

Abstract: The main purpose of this paper is using analytic methods to give a recurrence formula of the number of solutions of an equation over finite field. We use analytic methods to give a recurrence formula for the number of solutions of the above equation. And our method is based on the properties of the Gauss sum. It is worth noting that we used a novel method to simplify the steps and avoid complicated calculations.

Keywords: recurrence formula; finite field; analytic methods; characters; Gauss sum

Mathematics Subject Classification: 11D45, 11D72

1. Introduction

Let p be a prime, f be a polynomial with k variable and $\mathbf{F}_p = \mathbf{Z}/(p)$ be the finite field, where \mathbf{Z} is the integer ring, and let

$$N(f; p) = \#\{(x_1, x_2, \dots, x_k) \in \mathbf{F}_p^k | f(x_1, x_2, \dots, x_k) = 0\}.$$

Many scholars studied the exact formula (including upper bound and lower bound) for $N(f; p)$ for many years, it is one of the main topics in the finite field theory, the most elementary upper bounds was given as follows (see [14])

$$N(f; p) \leq p^{k-1} \deg f.$$

Let ord_p denote the p -adic additive valuation normalized such that $\text{ord}_p p = 1$. The famous Chevalley-Waring theorem shows that $\text{ord}_p N(f; p) > 0$ if $n > \deg f$. Let $[x]$ denote the least integer $\geq x$ and e denote the extension degree of $\mathbf{F}_q/\mathbf{F}_p$. Ax (see [2]) showed that

$$\text{ord}_p N(f; q) \geq e \left\lceil \frac{n - \deg f}{\deg f} \right\rceil.$$

In 1977, S. Chowla et al. (see [7]) investigated a problem about the number of solutions of a equation in finite field \mathbf{F}_p as follow,

$$x_1^3 + x_2^3 + \dots + x_k^3 \equiv 0,$$

where p is a prime with $p \equiv 1 \pmod 3$ and $x_i \in \mathbf{F}_p, 1 \leq i \leq k$.

Let M_k denotes the number of solutions of the above equation. They proved that

$$M_3 = p^2 + d(p - 1), M_4 = p^2 + 6(p^2 - p),$$

$$\sum_{s=1}^{\infty} M_s x^s = \frac{x}{1 - px} + \frac{x^2(p - 1)(2 + dx)}{1 - 3px^2 - pdx^3},$$

where d is uniquely determined by $4p = d^2 + 27y^2$ and $d \equiv 1 \pmod 3$.

Myerson [12] extended the result in [2] to the field \mathbf{F}_q and first studied the following equation over \mathbf{F}_q ,

$$x_1^3 + x_2^3 + \dots + x_k^3 \equiv 0.$$

Recently J. Zhao et al. (see [17]) investigated the following equations over field \mathbf{F}_p ,

$$f_1 = x_1^4 + x_2^4 + x_3^4,$$

$$f_2 = x_1^4 + x_2^4 + x_3^4 + x_4^4.$$

And they give exact value of $N(f_1; p)$ and $N(f_2; p)$. For more general problem about this issue interested reader can see [6, 9–11].

In this paper, let $A(k, p)$ denotes the number of solutions of the following equation in \mathbf{F}_p ,

$$x_1^6 + x_2^6 + \dots + x_k^6 \equiv 0,$$

where p is a prime with $p \equiv 1 \pmod 3$ and $x_i \in \mathbf{F}_p, 1 \leq i \leq k$, and for simplicity, in the rest of this paper, we assume there exists an integer z such that $z^3 \equiv 2 \pmod p$, we use analytic methods to give a recurrence formula for the number of solutions of the above equation. And our method is based on the properties of Gauss sum. It is worth noting that we used a novel method to simplify the steps and avoid a lot of complicated calculations. We proved the following:

Theorem 1. For any positive integer $k \geq 1$, we have the recurrence formula

$$A(k + 6, p) = 5pA(k + 4, p) + 10dpA(k + 3, p)$$

$$+ (46p^2 + 5d^2p + dp)A(k + 2, p)$$

$$+ (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)A(k + 1, p)$$

$$+ (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2})$$

$$+ (129d^2 + 11d + 6)p^2 + d^4p)A(k, p)$$

$$+ p^{k+5} - p^{k+4} - (10dp + 2d^2)p^{k+3} - 64p^{k+5/2}$$

$$- (429 + 121d + 5d^2)p^{k+2}$$

$$- 2d^2p^{k+3/2} - (3d^3 + 130d^2 + 12d + 6)p^{k+1} - d^4p^k,$$

with the initial condition

$$\begin{aligned} A(1, p) &= 1, A(2, p) = 4(p-1) + p, A(3, p) = 10d(p-1) + p^2, \\ A(4, p) &= 56p(p-1) + 10d^2(p-1) + p^3, \\ A(5, p) &= 188dp(p-1) + 5d^3(p-1) + 16dC(p)(p-1) + p^4, \\ A(6, p) &= p^5 + 1400p^2(p-1) + (388d^2 + 8d - 576)p(p-1) + d^2p - d^2, \end{aligned}$$

where d is uniquely determined by $4p = d^2 + 27y^2$ and $d \equiv 1 \pmod{3}$, and $C(p) = \sum_{a=1}^p e_p(a^3)$.

Remark. Our method is suitable to calculate the number of solutions of the following equation in \mathbf{F}_p ,

$$x_1^t + x_2^t + \cdots + x_k^t \equiv 0,$$

where p satisfied a certain congruence conditions, and t is any nature number.

Our Theorem 2 can be deduced from Theorem 1 and the theory of the Difference equations.

Theorem 2. Let t_i ($1 \leq i \leq k$) be the real root of the below equation with multiplicity s_i ($1 \leq i \leq k$) respectively, and $\rho_j e^{\pm i w_j}$ ($1 \leq j \leq h$) be the complex root of the below equation with multiplicity r_j ($1 \leq j \leq h$) respectively,

$$\begin{aligned} x^6 &= 5px^4 + 10dpx^3 + (46p^2 + 5d^2p + dp)x^2 \\ &+ (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)x \\ &+ (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} \\ &+ (129d^2 + 11d + 6)p^2 + d^4p). \end{aligned}$$

We have

$$A(n, p) = \sum_{i=1}^k \sum_{a=1}^{s_i} C_{ia} n^{s_i-a} t_i^n + \sum_{j=1}^h \sum_{b=1}^{r_j} D_{jb} n^{r_j-b} \rho_j^n \cos nw_j + \sum_{j=1}^h \sum_{b=1}^{r_j} E_{jb} n^{r_j-b} \rho_j^n \sin nw_j,$$

where C_{ia}, D_{jb}, E_{jb} , are determined by

$$\begin{aligned} A(6, p) &= \sum_{i=1}^k \sum_{a=1}^{s_i} C_{ia} 6^{s_i-a} t_i^6 + \sum_{j=1}^h \sum_{b=1}^{r_j} D_{jb} 6^{r_j-b} \rho_j^6 \cos 6w_j + \sum_{j=1}^h \sum_{b=1}^{r_j} E_{jb} 6^{r_j-b} \rho_j^6 \sin 6w_j, \\ A(5, p) &= \sum_{i=1}^k \sum_{a=1}^{s_i} C_{ia} 5^{s_i-a} t_i^5 + \sum_{j=1}^h \sum_{b=1}^{r_j} D_{jb} 5^{r_j-b} \rho_j^5 \cos 5w_j + \sum_{j=1}^h \sum_{b=1}^{r_j} E_{jb} 5^{r_j-b} \rho_j^5 \sin 5w_j, \\ A(4, p) &= \sum_{i=1}^k \sum_{a=1}^{s_i} C_{ia} 4^{s_i-a} t_i^4 + \sum_{j=1}^h \sum_{b=1}^{r_j} D_{jb} 4^{r_j-b} \rho_j^4 \cos 4w_j + \sum_{j=1}^h \sum_{b=1}^{r_j} E_{jb} 4^{r_j-b} \rho_j^4 \sin 4w_j, \\ A(3, p) &= \sum_{i=1}^k \sum_{a=1}^{s_i} C_{ia} 3^{s_i-a} t_i^3 + \sum_{j=1}^h \sum_{b=1}^{r_j} D_{jb} 3^{r_j-b} \rho_j^3 \cos 3w_j + \sum_{j=1}^h \sum_{b=1}^{r_j} E_{jb} 3^{r_j-b} \rho_j^3 \sin 3w_j, \\ A(2, p) &= \sum_{i=1}^k \sum_{a=1}^{s_i} C_{ia} 2^{s_i-a} t_i^2 + \sum_{j=1}^h \sum_{b=1}^{r_j} D_{jb} 2^{r_j-b} \rho_j^2 \cos 2w_j + \sum_{j=1}^h \sum_{b=1}^{r_j} E_{jb} 2^{r_j-b} \rho_j^2 \sin 2w_j, \\ A(1, p) &= \sum_{i=1}^k \sum_{a=1}^{s_i} C_{ia} t_i + \sum_{j=1}^h \sum_{b=1}^{r_j} D_{jb} \rho_j \cos w_j + \sum_{j=1}^h \sum_{b=1}^{r_j} E_{jb} \rho_j \sin w_j. \end{aligned} \tag{1.1}$$

2. Some Lemmas

Before we prove these lemmas, we give some notations, χ_2 denotes the second-order character of \mathbf{F}_p , χ denotes the third-order character of \mathbf{F}_p , ψ denotes the sixth order character of \mathbf{F}_p .

$$e_p(x) = e^{\frac{2\pi ix}{p}}, \tau(\chi) = \sum_{m=1}^p \chi(m)e_p(m), G(\chi, m) = \sum_{a=1}^p \chi(a)e_p(am).$$

We call $G(\chi, m)$ the Gauss sum, and we have the following:

$$G(\chi, m) = \tau(\chi)\bar{\chi}(m), (m, p) = 1. \tag{2.1}$$

And also we have

$$|\tau(\chi)| = \sqrt{p}, \tag{2.2}$$

where χ is a primitive character of \mathbf{F}_p . And let $G(m, 6; p) = \sum_{a=0}^{p-1} e_p(ma^6)$. For the property of the exponential sum and the general Gauss sum, interested readers can see [1, 4, 5, 8, 13, 15].

Lemma 1. Let p be a prime with $p \equiv 1 \pmod{3}$. Then for any third-order character χ of \mathbf{F}_p , we have the identity

$$\tau^3(\chi) + \tau^3(\bar{\chi}) = dp,$$

where d is uniquely determined by $4p = d^2 + 27y^2$ and $d \equiv 1 \pmod{3}$.

Proof. For the proof of this lemma see [3].

Lemma 2. Let χ be a third-order character of \mathbf{F}_p with $p \equiv 1 \pmod{3}$, and $C(p) = \tau(\chi) + \tau(\bar{\chi})$, then

$$C(p) = \sum_{a=1}^p e_p(a^3).$$

Proof.

$$A = \tau(\chi) + \tau(\bar{\chi}) = \sum_{a=1}^p (1 + \chi(a) + \bar{\chi}(a))e\left(\frac{a}{p}\right) = \sum_{a=1}^p e\left(\frac{a^3}{p}\right).$$

Lemma 3. Let $p \equiv 1 \pmod{6}$, $2 \equiv z^3 \pmod{p}$ for some z , and let χ be a third-order character of \mathbf{F}_p , ψ be a sixth-order character of \mathbf{F}_p , then we have the identity

$$\tau(\psi) = \frac{\tau^2(\chi)}{\sqrt{p}}.$$

Proof. This is Lemma 3 in [16].

Lemma 4. As the definition above, we have the identity

$$G(m, 6; p) = \sqrt{p}\chi_2(m) + \frac{\bar{x}^2}{\sqrt{p}}\psi(m) + \frac{x^2}{\sqrt{p}}\bar{\psi}(m) + \bar{x}\chi(m) + x\bar{\chi}(m),$$

where $(m, p) = 1$ and $x = \tau(\chi)$.

Proof. Firstly we have the identity

$$1 + \chi_2(m) + \chi(m) + \bar{\chi}(m) + \psi(m) + \bar{\psi}(m) = \begin{cases} 6, & \text{if } m \equiv a^6 \pmod{p}; \\ 0, & \text{otherwise.} \end{cases}$$

So we have

$$\begin{aligned} G(m, 6; p) &= \sum_{a=0}^{p-1} (1 + \chi_2(a) + \chi(a) + \bar{\chi}(a) + \psi(a) + \bar{\psi}(a)) e_p(ma) \\ &= G(\chi_2, m) + G(\psi, m) + G(\bar{\psi}, m) + G(\chi, m) + G(\bar{\chi}, m) \end{aligned}$$

By (2.1) and Lemma 3, we have

$$\begin{aligned} G(m, 6; p) &= \tau(\chi_2)\chi_2(m) + \tau(\bar{\psi})\psi(m) + \tau(\psi)\bar{\psi}(m) + \tau(\bar{\chi})\chi(m) + \tau(\chi)\bar{\chi}(m) \\ &= \sqrt{p}\chi_2(m) + \frac{x^2}{\sqrt{p}}\psi(m) + \frac{x^2}{\sqrt{p}}\bar{\psi}(m) + \bar{x}\chi(m) + x\bar{\chi}(m). \end{aligned} \quad (2.3)$$

By (2.3), we complete the proof of our lemma.

Next we let,

$$G^n(m, 6; p) = a_n + b_n\chi_2(m) + c_n\psi(m) + d_n\bar{\psi}(m) + e_n\chi(m) + f_n\bar{\chi}(m). \quad (2.4)$$

Then we have following Lemma 5.

Lemma 5. Let $a_n, b_n, c_n, d_n, e_n, f_n$ are defined as above, then we have that $a_n, b_n, c_n, d_n, e_n, f_n$ are uniquely determined by n , where $n \geq 1$.

Proof. By the orthogonality of characters of \mathbf{F}_p , we have

$$\sum_{a=1}^{p-1} \chi(a) = \begin{cases} p-1, & \text{if } \chi = \chi_0; \\ 0, & \text{otherwise.} \end{cases} \quad (2.5)$$

By (2.4) and (2.5) we have

$$\begin{aligned} \sum_{m=1}^{p-1} G^n(m, 6; p) &= (p-1)a_n + b_n \sum_{m=1}^{p-1} \chi_2(m) + c_n \sum_{m=1}^{p-1} \psi(m) + d_n \sum_{m=1}^{p-1} \bar{\psi}(m) \\ &\quad + e_n \sum_{m=1}^{p-1} \chi(m) + f_n \sum_{m=1}^{p-1} \bar{\chi}(m) \\ &= (p-1)a_n. \end{aligned}$$

So we have

$$a_n = \frac{1}{p-1} \sum_{m=1}^{p-1} G^n(m, 6; p). \quad (2.6)$$

By the same method, we have

$$b_n = \frac{1}{p-1} \sum_{m=1}^{p-1} \chi_2(m) G^n(m, 6; p),$$

$$c_n = \frac{1}{p-1} \sum_{m=1}^{p-1} \bar{\psi}(m) G^n(m, 6; p),$$

$$d_n = \frac{1}{p-1} \sum_{m=1}^{p-1} \psi(m) G^n(m, 6; p),$$

$$e_n = \frac{1}{p-1} \sum_{m=1}^{p-1} \bar{\chi}(m) G^n(m, 6; p),$$

$$f_n = \frac{1}{p-1} \sum_{m=1}^{p-1} \chi(m) G^n(m, 6; p).$$

So now it is easy to see the conclusion of the lemma.

Lemma 6. The sequences $\{a_n\}$, $\{b_n\}$, $\{c_n\}$, $\{d_n\}$, $\{e_n\}$, $\{f_n\}$ are defined above, then they satisfied the following recurrence formulae ($n \geq 0$):

$$a_{n+1} = \sqrt{p}b_n + \frac{\bar{x}^2}{\sqrt{p}}d_n + \frac{x^2}{\sqrt{p}}c_n + xe_n + \bar{x}f_n, \quad (2.7)$$

$$b_{n+1} = \sqrt{p}a_n + \frac{\bar{x}^2}{\sqrt{p}}e_n + \frac{x^2}{\sqrt{p}}f_n + xd_n + \bar{x}c_n, \quad (2.8)$$

$$c_{n+1} = \sqrt{p}f_n + \frac{\bar{x}^2}{\sqrt{p}}a_n + \frac{x^2}{\sqrt{p}}e_n + xb_n + \bar{x}d_n, \quad (2.9)$$

$$d_{n+1} = \sqrt{p}e_n + \frac{\bar{x}^2}{\sqrt{p}}f_n + \frac{x^2}{\sqrt{p}}a_n + xc_n + \bar{x}b_n, \quad (2.10)$$

$$e_{n+1} = \sqrt{p}d_n + \frac{\bar{x}^2}{\sqrt{p}}c_n + \frac{x^2}{\sqrt{p}}b_n + xf_n + \bar{x}a_n, \quad (2.11)$$

$$f_{n+1} = \sqrt{p}c_n + \frac{\bar{x}^2}{\sqrt{p}}b_n + \frac{x^2}{\sqrt{p}}d_n + xa_n + \bar{x}e_n, \quad (2.12)$$

with the initial condition

$$a_0 = 1, b_0 = c_0 = d_0 = e_0 = f_0 = 0.$$

Proof. We only prove (2.7), the rest can be proved in the same way. By Lemma 5, we know a_n is unique determined by n . We can compare the coefficient of the equation

$$G^{n+1}(m, 6; p) = G^n(m, 6; p)G(m, 6; p).$$

We have

$$a_{n+1} = \sqrt{p}b_n + \frac{\bar{x}^2}{\sqrt{p}}d_n + \frac{x^2}{\sqrt{p}}c_n + xe_n + \bar{x}f_n.$$

So we complete the proof of the lemma.

Lemma 7. Let a_n is defined as above, then we have

$$a_0 = 1, a_1 = 0, a_2 = 5p, a_3 = 10dp, a_4 = 56p^2 + 10d^2p,$$

$$a_5 = 188dp^2 + 5d^3p + 16dpC(p).$$

Proof. By Lemma 4 and after some elementary calculations we have

$$\begin{aligned} G^2(m, 6; p) &= 5p + 2dp^{1/2}\chi_2(m) + 4p^{1/2}x\psi(m) + 4p^{1/2}\bar{x}\bar{\psi}(m) \\ &\quad + (p^{-1}\bar{x}^4 + 3x^2)\chi(m) + (p^{-1}x^4 + 3\bar{x}^2)\bar{\chi}(m), \\ G^3(m, 6; p) &= 10dp + (16p^{3/2} + dp^{1/2})\chi_2(m) + (15p\bar{x} + 2dx^2 + p^{-1}x^5)\chi(m) \\ &\quad + (15px + 2d\bar{x}^2 + p^{-1}\bar{x}^5)\bar{\chi}(m) \\ &\quad + (4p^{-1/2}x^4 + 12p^{1/2}\bar{x}^2 + 2dp^{1/2}x)\psi(m) \\ &\quad + (4p^{-1/2}\bar{x}^4 + 12p^{1/2}x^2 + 2dp^{1/2}\bar{x})\bar{\psi}(m), \\ G^4(m, 6; p) &= 60p^2 + 9d^2p + dp + 48dp^{3/2}\chi_2(m) \\ &\quad + (p^{-2}x^8 + 17\bar{x}^4 + 46px^2 + 16dp)\chi(m) \\ &\quad + (p^{-2}\bar{x}^8 + 17x^4 + 46p\bar{x}^2 + 16dp)\bar{\chi}(m) \\ &\quad + (56p^{3/2}x + 4dp^{-1/2}x^4 + 12dp^{1/2}\bar{x}^2 + 8p^{-1/2}\bar{x}^5)\psi(m) \\ &\quad + (56p^{3/2}\bar{x} + 4dp^{-1/2}\bar{x}^4 + 12dp^{1/2}x^2 + 8p^{-1/2}x^5)\bar{\psi}(m), \\ G^5(m, 6; p) &= 188dp^2 + 5d^3p + 16dpC(p) \\ &\quad + (52d^2p^{3/2} + 208p^{5/2} + 16dp^{1/2}(x^2 + \bar{x}^2))\chi_2(m) \\ &\quad + (p^{-2/5}x^{10} + p^{-3/2}\bar{x}^8 + 4dp^{-1/2}\bar{x}^5 + 71p^{1/2}x^4 \\ &\quad + (46p^{3/2} + 16p^{1/2})x^2 \\ &\quad + (129p^{3/2} + 10d^2p^{1/2})\bar{x}^2 + 60dp^{3/2}x + 16dp^{3/2})\psi(m) \\ &\quad + (p^{-2/5}\bar{x}^{10} + p^{-3/2}x^8 + 4dp^{-1/2}x^5 + 71p^{1/2}\bar{x}^4 \\ &\quad + (46p^{3/2} + 16p^{1/2})\bar{x}^2 \\ &\quad + (129p^{3/2} + 10d^2p^{1/2})x^2 + 60dp^{3/2}\bar{x} + 16dp^{3/2})\bar{\psi}(m) \\ &\quad + (8p^{-1}\bar{x}^7 + p^{-1}x^7 + 25x^5 + 52dp)x^2 \\ &\quad + (28dp + 46p^2)x + 16d\bar{x}^4 + 112p^2\bar{x})\chi(m) \\ &\quad + (8p^{-1}x^7 + p^{-1}\bar{x}^7 + 25\bar{x}^5 + 52dp)\bar{x}^2 \\ &\quad + (28dp + 46p^2)\bar{x} + 16dx^4 + 112p^2x)\bar{\chi}(m), \end{aligned}$$

and comparing the above formulae with (2.6), we have

$$a_0 = 1, a_1 = 0, a_2 = 5p, a_3 = 10dp, a_4 = 60p^2 + 9d^2p + dp, a_5 = 188dp^2 + 5d^3p + 16dpC(p).$$

Lemma 8. Let $a_n, b_n, c_n, d_n, e_n, f_n$ are defined as above, then we have

$$\begin{aligned} a_6 &= 5pa_4 + 10dpa_3 + (46p^2 + 5d^2p + dp)a_2 + (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)a_1 \\ &\quad + (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} + (129d^2 + 11d + 6)p^2 + d^4p)a_0 \\ b_6 &= 5pb_4 + 10dpb_3 + (46p^2 + 5d^2p + dp)b_2 + (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)b_1 \\ &\quad + (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} + (129d^2 + 11d + 6)p^2 + d^4p)b_0 \\ c_6 &= 5pc_4 + 10dpc_3 + (46p^2 + 5d^2p + dp)c_2 + (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)c_1 \\ &\quad + (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} + (129d^2 + 11d + 6)p^2 + d^4p)c_0 \end{aligned}$$

$$\begin{aligned}
d_6 &= 5pd_4 + 10dpd_3 + (46p^2 + 5d^2p + dp)d_2 + (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)d_1 \\
&\quad + (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} + (129d^2 + 11d + 6)p^2 + d^4p)d_0 \\
e_6 &= 5pe_4 + 10dpe_3 + (46p^2 + 5d^2p + dp)e_2 + (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)e_1 \\
&\quad + (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} + (129d^2 + 11d + 6)p^2 + d^4p)e_0 \\
f_6 &= 5pf_4 + 10dpf_3 + (46p^2 + 5d^2p + dp)f_2 + (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)f_1 \\
&\quad + (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} + (129d^2 + 11d + 6)p^2 + d^4p)f_0
\end{aligned}$$

Proof. We only proof the first formula, the rest can be proof in the same way. By Lemma 6, we have

$$\begin{aligned}
a_6 &= \sqrt{p}b_5 + \frac{\bar{x}^2}{\sqrt{p}}d_5 + \frac{x^2}{\sqrt{p}}c_5 + xe_5 + \bar{x}f_5 \\
&= 5pa_4 + 2dp^{1/2}b_4 + 4p^{1/2}\bar{x}c_4 + 4p^{1/2}xd_4 \\
&\quad + (3\bar{x}^2 + p^{-1}x^4)e_4 + (3x^2 + p^{-1}\bar{x}^4)f_4 \\
&= 5pa_4 + 10dpa_3 + (d^2p^{1/2} + 12p^{3/2})b_3 + (2dp^{1/2}\bar{x} \\
&\quad + 8p^{1/2}x^2 + p^{-1/2}\bar{x}^4)c_3 \\
&\quad + (2dp^{1/2}x + 8p^{1/2}\bar{x}^2 + p^{-1/2}x^4)d_3 + (11px + \bar{x}^2 + p^{-1}\bar{x}^5)e_3 \\
&\quad + (11p\bar{x} + x^2 + p^{-1}x^5)f_3 \\
&= 5pa_4 + 10dpa_3 + (46p^2 + 5d^2p + dp)a_2 + (25dp^{3/2} + 2p^{3/2})b_2 \\
&\quad + (p^{-3/2}\bar{x}^7 + 2p^{-1/2}x^5 + p^{-1/2}\bar{x}^4 + 42p^{3/2}\bar{x} + 2dp^{1/2}x^2 \\
&\quad + (d^2 + 1)p^{1/2}\bar{x})c_2 \\
&\quad + (p^{-3/2}x^7 + 2p^{-1/2}\bar{x}^5 + p^{-1/2}x^4 + 42p^{3/2}x + 2dp^{1/2}\bar{x}^2 \\
&\quad + (d^2 + 1)p^{1/2}x)d_2 \\
&\quad + (10x^4 + (32p + d^2)\bar{x}^2 + (4dp + p)x)e_2 \\
&\quad + (10\bar{x}^4 + (32p + d^2)x^2 + (4dp + p)\bar{x})f_2 \\
&= 5pa_4 + 10dpa_3 + (46p^2 + 5d^2p + dp)a_2 \\
&\quad + (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)a_1 \\
&\quad + (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} \\
&\quad + (129d^2 + 11d + 6)p^2 + d^4p)a_0.
\end{aligned}$$

So we complete the proof of this lemma.

Lemma 9. Let a_n is defined as above, then for any integer $n \geq 0$, we have

$$\begin{aligned}
a_{n+6} &= 5pa_{n+4} + 10dpa_{n+3} + (46p^2 + 5d^2p + dp)a_{n+2} \\
&\quad + (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)a_{n+1} \\
&\quad + (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} \\
&\quad + (129d^2 + 11d + 6)p^2 + d^4p)a_n.
\end{aligned}$$

Proof. By (2.4) and Lemma 8, we have

$$G^6(m, 6; p) = 5pG^4(m, 6; p) + 10dpG^3(m, 6; p) + (46p^2 + 5d^2p + dp)G^2(m, 6; p)$$

$$\begin{aligned}
& +(2p^2 + 120dp^2 + 3d^3p + d^2p + dp)G(m, 6; p) \\
& +(-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} \\
& +(129d^2 + 11d + 6)p^2 + d^4p).
\end{aligned}$$

We multiple $G^n(m, 6; p)$ to the both side of the above formula, we have

$$\begin{aligned}
G^{n+6}(m, 6; p) &= 5pG^{n+4}(m, 6; p) + 10dpG^{n+3}(m, 6; p) \\
& +(46p^2 + 5d^2p + dp)G^{n+2}(m, 6; p) \\
& +(2p^2 + 120dp^2 + 3d^3p + d^2p + dp)G^{n+1}(m, 6; p) \\
& +(-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} \\
& +(129d^2 + 11d + 6)p^2 + d^4p)G^n(m, 6; p).
\end{aligned}$$

By Lemma 5, we can compare the coefficient of the above equation, we have

$$\begin{aligned}
a_{n+6} &= 5pa_{n+4} + 10dpa_{n+3} + (46p^2 + 5d^2p + dp)a_{n+2} \\
& +(2p^2 + 120dp^2 + 3d^3p + d^2p + dp)a_{n+1} \\
& +(-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} \\
& +(129d^2 + 11d + 6)p^2 + d^4p)a_n.
\end{aligned}$$

3. Proof of the theorem 1

In the formula below, we always let $k \geq 1$. By the following formula,

$$\sum_{a=0}^{p-1} e_p(ma) = \begin{cases} p, & \text{if } p \mid m; \\ 0, & \text{otherwise,} \end{cases}$$

we have

$$\begin{aligned}
A(k, p) &= \frac{1}{p} \sum_{m=0}^{p-1} \sum_{x_1=0, x_2=0, \dots, x_k=0}^{p-1} e_p(m(x_1^6 + x_2^6 + \dots + x_k^6)) \\
&= \frac{1}{p} \sum_{m=0}^{p-1} G^k(m, 6; p).
\end{aligned} \tag{3.1}$$

By (8), we have

$$\begin{aligned}
A(k, p) &= \frac{1}{p} \sum_{m=0}^{p-1} G^k(m, 6; p) \\
&= \frac{1}{p} \left(\sum_{m=1}^{p-1} G^k(m, 6; p) + p^k \right) \\
&= \frac{1}{p} ((p-1)a_k + p^k) = \frac{p-1}{p} a_k + p^{k-1}.
\end{aligned} \tag{3.2}$$

So by Lemma 9, we have

$$\begin{aligned}
 A(k+6, p) - p^{k+5} &= 5p(A(k+4, p) - p^{k+3}) + 10dp(A(k+3, p) - p^{k+2}) \\
 &\quad + (46p^2 + 5d^2p + dp)(A(k+2, p) - p^{k+1}) \\
 &\quad + (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)(A(k+1, p) - p^k) \\
 &\quad + (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} \\
 &\quad + (129d^2 + 11d + 6)p^2 + d^4p)(A(k, p) - p^{k-1}).
 \end{aligned}$$

So we have

$$\begin{aligned}
 A(k+6, p) &= 5pA(k+4, p) + 10dpA(k+3, p) \\
 &\quad + (46p^2 + 5d^2p + dp)A(k+2, p) \\
 &\quad + (2p^2 + 120dp^2 + 3d^3p + d^2p + dp)A(k+1, p) \\
 &\quad + (-4p^5 + 2d^2p^4 + 64p^{7/2} + 381p^3 + 2d^2p^{5/2} \\
 &\quad + (129d^2 + 11d + 6)p^2 + d^4p)A(k, p) \\
 &\quad + p^{k+5} - p^{k+4} - (10dp + 2d^2)p^{k+3} - 64p^{k+5/2} \\
 &\quad - (429 + 121d + 5d^2)p^{k+2} \\
 &\quad - 2d^2p^{k+3/2} - (3d^3 + 130d^2 + 12d + 6)p^{k+1} - d^4p^k.
 \end{aligned}$$

And by Lemma 7 and (3.2), we have the initial conditions

$$\begin{aligned}
 A(1, p) &= 1, A(2, p) = 4(p-1) + p, A(3, p) = 10d(p-1) + p^2, \\
 A(4, p) &= 56p(p-1) + 10d^2(p-1) + p^3, \\
 A(5, p) &= 188dp(p-1) + 5d^3(p-1) + 16dC(p)(p-1) + p^4. \\
 A(6, p) &= p^5 + 1400p^2(p-1) + (388d^2 + 8d - 576)p(p-1) + d^2p - d^2.
 \end{aligned}$$

So we complete the proof of the theorem.

4. Conclusion

The main purpose of this paper is using analytic methods to give a recurrence formula of the number of solutions of an equation over finite field. And we give an expression of the number of solutions of the above equation by the root of sixth degree polynomial. We use analytic methods to give a recurrence formula for the number of solutions of the above equation. And our method is based on the properties of the Gauss sum. It is worth noting that we used a novel method to simplify the steps and avoid complicated calculations.

Acknowledgements

The author thanks to referees for very important recommendations and warnings which improved the paper.

Conflict of interest

The author declares that there is no competing interest.

References

1. T. M. Apostol, *Introduction to analytic number theory*, New York: Springer-Verlag, 1976.
2. J. Ax, Zeros of polynomials over finite fields, *Amer. J. Math.*, **86** (1964), 255–261.
3. B. C. Berndt, R. J. Evans, The determination of Gauss sums, *B. Am. Math. Soc.*, **5** (1987), 107–130.
4. J. Bourgain, M. C. Chang, A Gauss sum estimate in arbitrary finite fields, *C. R. Math.*, **342** (2006), 643–646.
5. W. Cao, A special degree reduction of polynomial over finite fields with applications, *Int. J. Number Theory*, **7** (2011), 1093–1102.
6. W. Cao, Q. Sun, On a class of equations with special degrees over finite fields, *Acta Arith.*, **130** (2007), 195–202.
7. S. Chowla, J. Cowles, M. Cowles, On the number of zeros of diagonal cubic forms, *J. Number Theory*, **9** (1977), 502–506.
8. M. Z. Garaev, On the gauss trigonometric sum, *Math. Notes*, **68** (2000), 154–158.
9. S. Hu, J. Zhao, The number of rational points of a family of algebraic varieties over finite fields, *Algebra Colloq.*, **24** (2017), 705–720.
10. S. Hu, S. Hong, W. Zhao, The number of rational points of a family of hypersurfaces over finite fields, *J. Number Theory*, **156** (2015), 135–153.
11. H. Huang, W. Gao, W. Cao, Remarks on the number of rational points on a class of hypersurfaces over finite fields, *Algebra Colloq.*, **25** (2018), 533–540.
12. G. Myerson, On the number of zeros of diagonal cubic forms, *J. Number Theory*, **11** (1979), 95–99.
13. Kh. M. Saliba, V. N. Chubarikov, A generalization of the Gauss sum, *Moscow Univ. Math. Bull.*, **64** (2009), 92–94.
14. W. M. Schmidt, *Equations over finite fields: an elementary approach*, New York: Springer-Verlag, 1976.
15. A. Weil, On some exponential sums, *P. Natl. Acad. Sci. USA*, **34**, (1948), 203–210.
16. W. Zhang, J. Zhang, Some character sums of the polynomials, *JP Journal of Algebra, Number Theory and Applications*, **48** (2020), 37–48.
17. J. Zhao, S. Hong, C. Zhu, The number of rational points of certain quartic diagonal hypersurfaces over finite fields, *AIMS Mathematics*, **5** (2020), 2710–2731.



©2021 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>)